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Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 1333273
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 133327241 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

‘Pithara paka vada’ is accepted by -

(1) Naiyyayika (2) Vaisheshika
(3) Tarkika (4) Samkhya

Question Number : 1 Question Id : 133327241 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

T8 Ui diq’ {6 qRiFS 4 WieR f6ar g2
(1) TERe 2) dAfND
3) diidd 4) IR

Question Number : 2 Question Id : 133327242 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List Il

A)  Manorama Khandana ) Radhakant Dev

(

B) Shabda Kalpa druma ()  Tisatacharya
C) Chikitsa Kalika () Chakrapani
D) Vachaspatyam (IV) Taranatha

Choose the correct answer from the options given below :

(1 (A=), (B)-(I), (O, (D)-(V)
(2) (A=, (B)-(, (C)-(), (D)-(V)
() (A=, (B)-(I, (O)-1). (D)-(V)
@) (A-V). (B)-(1). (Q-(I), (D)-(Im)

Question Number : 2 Question Id : 133327242 Question Type : MCQ Option Shuffling : No



Correct Marks : 4 Wrong Marks : 1

Yi-1 & 1Y Gd1-11 DT HelH DI :
-1 gdi-Il

(A) HARH W@USH () YDl ¢d
(B) TIeG Dl gH OEGIEEER
) e oicidr (1) IhuIior
(D) dEYI (V) dRHENY

i QU U f[ddedl | O Ygl 3 &l 99 IS :

(1) (A)-(D), (B)-(II), (©)-(l1), (D)-(1V)

(2) (A)-(111), (B)-(D), (C)-(11), (D)-(1V)

(3) (A)-(11), (B)-(111), (C)-(1), (D)-(1V)

@ A)-0V), (B)-(), [©-(D, (D)-(I)

Question Number : 3 Question Id : 133327243 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which of the following samasa (compound) is in ‘Doshanam prashamanam'?

(1) Panchami tatpurusha (2) Dwiteeya tatpurusha
(3)  Triteeya tatpurusha (4) Shashthi tatpurusha

Question Number : 3 Question Id : 133327243 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

SISO YR B D 91 S0 67
(1) o IRy () fedtaaaey
(3) AT dgRy (4) WY dgey

Question Number : 4 Question Id : 133327244 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to Acharya Kashyapa, which prakriti is extra in manas prakriti of Rajas Satva?

(1) Sarpa Satva (2) Yaksha Satva
(3)  Shakun Satva (4)  Aasur Satva



Question Number : 4 Question Id : 133327244 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Y Upid o oY Yed H 3™ H3AU A ¥ Udpid Bl sifdived <drn g2
(1) 94gd (2) UeHd
(3) WP1Yd @) R YA

Question Number : 5 Question Id : 133327245 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to Charak Samhita consider the following

(A)  MANDA, VIJAL ACCHA and DRAVA Guna helps in Kapha Prakriti determination.
(B)  Slakshna, MRIDU and TEEKSHNA Guna helps in Pitta Prakriti determination.

(C)  LAGHU, BAHU and VISHADA Guna helps in Vata Prakriti determination.

(D)  Kapha Prakriti individuals cannot tolerate excessive cold.

(E)  Pitta Prakriti individuals excrete excessive sweat, urine and stool.

Choose the correct answer from the options given below :

(1) A CandD only
() B ,CandDonly
(3) A BandEonly
(4)  CandEonly

Question Number : 5 Question Id : 133327245 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



IR Gigdl P AFUR 9 W R B

B T, fawrd, 3 Ud %d 0 % Ydid Faf I 9grd gid g
(B)  2i&ul, g Ud ofi&ur vl fud yopfd faior o ggias gid ¢

(Q Y §g U4 fa=g 707 ot uepfat & Fmior e gl g

D) BB UPHid Yy 3ifd Ad dl g7 I8 R Dhd g |

©  OdUSd Yoy We, g3 SR QI &1 3Hd AR HRd g |

-4 fau 7 f9dedl § U Ugl SR &1 994 Hifog |
(1)  &ddA C3RD

() $ddB, C3ARD

3) hddA B3RE

4) $ddC3RE

Question Number : 6 Question Id : 133327246 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Match List | with List Il (According to Ashtanga Hridaya)

List | List Il

(A) Excessive intake of Madhura Rasa () Sukra Kshaya, Bala kshaya and
Viyatha in kati and pristha

(B) Excessive intake of Katu Rasa (I) Vataroga and Dhatu kshaya
(C) Excessive intake of Tikta Rasa () Kandu, Pandu and Visarpa
(D) Excessive intake of Amla Rasa (IV) Sanyasa, Gandmala and Arbuda

Choose the correct answer from the options given below :

(1) (A, B)-(II), (C)-(IM), (D)-(IV)
() (A-V), (B)-(). (C)-(ID). (D)-(1M)
(3) (A, B)-(IV), (C)-(1). (D)-(1M)
(4)  (A)-(II), (B)-(I), (C)-(IV). (D)-(1)

Question Number : 6 Question Id : 133327246 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



dl-1 o 9 -1 o eI IfGTU - (319177 26 o SFER)
T T

(A) TR Y & o () b 43, 9 40 T Hic T gy A o
(B) HE b SHiciaH (1) a1 X7 Td 41 &9

(O ESEGE RGN (1) &0, 1Ug Ud fogd

(D) il TG b 3HfcidaH (V) ST, TTUSHI Ud 3fdg

i f&T T faehedl H U g SR &1 98 DI

(1) (A-(0), B)-(), (©)-(II), )-(IV)

() (A-1V), (B)-(), (©)-(1), (D)-Clin

(3} (AN, B)-(V), (O-(1), (D)l

(@) (A1), @)1, (Q-(v), D)-0)

Question Number : 7 Question Id : 133327247 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to Sushruta "Kshetragyanamdhisthanam” is

(1 Mana (2) Buddhi
(3) Avyakta (4) Vyakta

Question Number : 7 Question Id : 133327247 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

gYd & YR ‘SFAHHESHY gl
1) T 2 d=
(3) Holdd (4) <Hdd

Question Number : 8 Question Id : 133327248 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to Sushruta 'Shonitavarna Vedanam' are the symptoms of

(1)  Aartava dosha (2) Garbhashaya dosha
(3)  Antahpuspa dosha (4) Shukra dosha



Question Number : 8 Question Id : 133327248 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Y & TR “2NfOraqul aa” deor g
(1) 3fidd ay &l @ "THRE AN @I
(3) 3=l UM GIN ol @) ghaly Bl

Question Number : 9 Question Id : 133327249 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to Sushruta, which one of the following ‘Kalantara Pranahara Marma' is
immediate fetal (Tatkal maraka)?

(1) Simanta Marma (@) Kshipra Marma
(3)  Brihati Marma (4) Vaksha Marma

Question Number : 9 Question Id : 133327249 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

gYd & YR 9 1 ¥ DI U1 DIel-R UIVgR 94 dab e IRE §?

(1) Ui ad @) feuad
3) dediad 4) JyHH

Question Number : 10 Question Id : 133327250 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to Astanga Hridaya, the Pratimarsha Nasya should not be given after

(1) Divaswapna (2) Madyapana
(3)  Maithuna (4) Gandusha

Question Number : 10 Question Id : 133327250 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

VTS BGUYR, UldH2l 9% 69 & a1& | Hol o1 dIigu?
(1)  feaarau @) HIUH
3) HYA 4 TN



Question Number : 11 Question Id : 133327251 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to Ashtanga Hridaya, consuming less or more quantity of food at improper
time is known as

(1) Samashana (2) Vishamashana
(3)  Viruddhashana (4) Adhyashana

Question Number : 11 Question Id : 133327251 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

TGRS b TR, 3fdd T R &1 I HUGHE ¥ Yo Bl el § ———

(1) WA (2) fdwHRH
B) fdegRH 4) TIH

Question Number : 12 Question Id : 133327252 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to Ashtang Hridaya, complete the given sloka "—————— 3RIT|
(1) Dosha Vaishamyam (2) Dosha Samyam
(3)  Dosha satmyam (4) Dosha Vega

Question Number : 12 Question Id : 133327252 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

APIFEed & IUR, U U Teld &l guf HRU - SRITAT |
(1) @Y IvRH () Y IRH
(3) <Y gy 4) Qa7

Question Number : 13 Question Id : 133327253 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

‘Red man syndrome” has been associated with rapid intravenous injection of the following
antibiotics?

(1) Clindamycin (2) Vancomycin
(3)  Piperacillin (4) Linezolid



Question Number : 13 Question Id : 133327253 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

s T g g d 4 oo Ucardifies & 2iie SidRRmd gofaer 3 3 Haiflid 37

Question Number : 14 Question Id : 133327254 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List Il
(A) Indian Jalap (I)  Apocynaceae
(B) Tooth Brush Tree (I  Convolvulaceae
(C) Indian Oleander () Sapindaceae
(D) Ceylon Oak (IV) Salvadoraceae

Choose the correct answer from the options given below :

(1) (A=), (B)-(IV), (C)-(11), (D)-(D)
(@) (A=), (B)=(IV), (C)-(1), (D)-(1IT)
(3) (A=), (B)-(I). (C)-(1V), (D)-(IIT)
4) (A, (B)-(IV), (C)-(I1), (D)-(IIT)

Question Number : 14 Question Id : 133327254 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Yi-1 & 1Y gi-1l 1 e Sife:

gt A
(A Si$T S () TOEEEE
(B) GUSTY () P-ategered
(€ c=fsuq snferds () o
D) FoaE sfie (V) Hrcarsidt
i fau U fadedi § I Ul SR &1 g DifoIe -
(1) (A-aN, B)-(V), (-, (D)-()
2) (AN, (B)-(V), (O)-(1), (D)-(Iln)
3) (AN, (B)-(), (O-(V), (D)-(II)
@ (A-0) B)-0V), (O-(), (D)-(IIn)

Question Number : 15 Question Id : 133327255 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Match List | with List |l :

List | List Il
(Drug name) (Substitute drug by Bhavprakasha)
(A) Chitraka ()  Apamargakshara
(B) Bhallataka (I Chitraka
(C) Somaraji () Chakramarda
(D) Bakul Puspa (IV) Kalhara

Choose the correct answer from the options given below :

(1) (A-(0). @), C)-(V), (D))
(2)  (A)-(), B)-(V), (O-(1), (D))
(3) (A, B)-(IN, (C)-(n), (D)-(IV)
4) (A0, B)-(m, ([©-(, (D)-(V)

Question Number : 15 Question Id : 133327255 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



di-1 & 1Y G1-1l 1 e Difore

- iﬂgj
CILEEIE) mmum &IEHIHW s2)
(NEEEET )
(B) Ycdlldd () ﬁ‘ﬁlfﬁ
Q) GRS () IHHAG
(D) dddyu (IV) DegRR
I fu U fads el H O g1 IR &1 999 DIvIU :
(1) (A)-(1), (B)-(11), (C)-(IV), (D)-(IlT)
(2) (A)-(11), (B)-(IV), (C)-(1), (D)-(11)
(3) (A)-(1), (B)-(I1), (C)-(l1n), (D)-(IV)
) (

(4 A)-(D), (B)-(1N, (O)-(11), (D)-(IV)

Question Number : 16 Question Id : 133327256 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | . Amla Rasa has Kledana, Deepana, Chhedana, Bhedana, Tikshna and

Vikashi properties as per Acharya Charaka.

Statementll . Tikta Rasa has Deepana, Pachana, Jwaraghna, lekhana and Krimighna

properties as per Acharya Charaka.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement Il are true
(2)  Both Statement | and Statement Il are false
(3)  Statement | is true but Statement Il is false

(4)  Statement | is false but Statement Il is true

Question Number : 16 Question Id : 133327256 Question Type : MCQ Option Shuffling : No



Correct Marks : 4 Wrong Marks : 1

4 3 P UM E

DY :

3R P P AR ST 7G H Felar, AU, S, N, e oik faepreft o
gld gl

FUNl: A T o AR R 3 S0, UG, SOy, o 3R S U Bl ¢

SURIGd Y P 3Miciiep 1, i< U T fdepedl U Ga¥ S0 TR P 90 DIl :

U | AR 1| GH IR
Y | 3R 11 ST T §

U | TEI g, A 4 || T |
BT | 7T &, feeT ot 11 9T ®

Question Number : 17 Question Id : 133327257 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which of the following statements are correct?

Charak has mentioned 19 Phalini Dravyas.

As per Acharya Charaka, root of Aparajita is used for Shirovirechana.
Bhasma is not included in Audbhida Gana by Acharya Charaka.

Latex (milky secretion) of Snuhi is used for both Vamana and Virechana.

As per Chararka, Katu rasa increases Visha.

Choose the correct answer from the options given below :

(1
(2
(3
(

)
)
)
4)

A B, Conly
B, C, Donly
C D, Eonly
A B, D only

Question Number : 17 Question Id : 133327257 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



P o Y B 91 By 9l 87

(A) TP 19 Biert gadl of Fard fear g1

B) 3 TR D IR, RIS gd RRIfa= & o Suged g1
@  SER 9RE A U DI 3fifaga 701 T FHERG ol fear g
(
(

D) gl ®l grig Ud a9 U4 faveH aH1 § Ygad Bidi g |
[) TR & IR HeY a9 Bl gerdr ¢

4 feu 71u fawedl & T 9l Sk &1 g ifoy
(1) &ddA B, C
(2) PadBCD
(3) PddC D,E
(4) HadA B D

Question Number : 18 Question Id : 133327258 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to charaka, which one of the following Karma is mentioned for "Shirish Begja"?

(1)  Vamana (2) Shirovirechana

(3)  Virechana (4) Asthapana Basti

Question Number : 18 Question Id : 133327258 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

3 b b SFER R oot Ffcfad iy o & foerd Swifdd 82

(1) dHd 2) RRifdwEA
3) fde=d (4) SR 9

Question Number : 19 Question Id : 133327259 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Match List | with List |l ;

(According to Sushruta, match the diseases with the respective indicated medicinal
decoctions)

List | List I
Medicinal Decoction)

)  Parijata Kashaya

(Disease)

A) Surameha

(
(
B) Sikatameha (I) Vaijayanti Kashaya
() Udakameha (Il

D) lkshumeha (

) Nimba Kashaya
IV) Chitraka Kashaya

Choose the correct answer from the options given below :

(1) (A-0. (B)-(V), (O, ©)-1D
(2) (A, B)-(lf), ()-(1), (D)-(V)
(3) (A, B)-(v), (Q-), D)1
@) (A-0). B)-). (Q-(IV), (D)-(I1h

Question Number : 19 Question Id : 133327259 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

il-1 & 1Y Yii-1l &1 e Hifoe -
(GYATER, I &1 374 FERA v syl g e sRa )

- Al
) (3{19¢ gIeY HY)
(A) GIHE () TR $u™
®) Redmg () doT=il HYH
(Q) IaPhHE any e
(D) S&HE (av) e svg
i fau U fag el & 9 Tel IR &1 999 Sifolu -
(1) (A)-(1), (B)-(IV), (O)-(1m), (D)-(In)
(2) (A)-(lD), (B)-(I1), (C)-(1), (D)-(1V)
(3) (A)-(l1), (B)Y-(1V), (C)-(D), (D)-(In)
(4) (A)-(1), (B)-(IN), (CO)-(1V), (D)-(1I)



Question Number : 20 Question Id : 133327260 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Match List | with List Il : Match the Dravyas with Mahakashayayas

List | List Il
(Dravya) (Mahakashaya)
(A)  Vasuka, Kusha, Kasa ()  Jvarahara
(B) Shallaki, Shalmali, Shrivesthaka ()  Vedanasthapana
(C) Draksha, Pilu, Parushaka () Purishvirajaniya
(D) Tumba, Vanjula, Elavaluka (IV) Mutravirechaniya

Choose the correct answer from the options given below :

(1) (A=, B)-(), [©)-(V), (D)-()
(2)  (A)-(IV), (B)-(II), (©O-(1), (D)-(IN)
() (A)-(V), (B)-(1), (Q-(ID). (D)-(Im)
4) (A=, B)-(IV), (Q-(Im). (D)-()

Question Number : 20 Question Id : 133327260 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Gil-1 & Iy Gl-Il T A BIIT: ol bl AeTb v g gafdd Siford|

- -1l
(SecH) (Helh 1Y)
(A) 9GP, P, P () TaER
(B) YS!, AT, 4ld¥H () dGTRIIGA
(Q aI&f, 4ig g2y () gaNfaRorg
(D) T, Tou[d, TAATdD v) T faaa
-fid QU TTU fadedl & U Tl 3R BT 99 HifolY :
(1) (A0, (B)-(11), (C)-(V), (D)-(1)
(2)  (A)-(V), (B)-(lI, (C)-(1), (D)-(1)
(3)  (A-(V), (B)-(1), (C)-(I1), (D)-(Im)
(4) (A=, (B)-(IV), (O)-(l), (D)-(1)

Question Number : 21 Question Id : 133327261 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
(A) Vatsanabha ()  Thevetin
(B) Pita Karvira (1)  Morphine
(C) Gunja (I}  Aconitine
(D) Ahiphena (IV)  Abrin

Choose the correct answer from the options given below :

(1 (A=), (B)=(I), (O, (D)-(IV)

(2) (A=, (B)-(). (C)-(V), (D)-(IN

() (A-(V), (B)-(1), (C)-(I), (D)-(1)
(

@) (A=, (B)-(Vv), (Q-(1), @)-(

Question Number : 21 Question Id : 133327261 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Tll-1 & I Yell-11 1 et pifore

I Tl
A IEY () Y (Thevetin)
B) UldHdR (i) HR%BA (Morphine)
ORRISE () THIFATC (Aconitine)
(D) gt (V) Tfs (Abrin)
Hid ¢ MU fddhedl | U Il SR I IgI DT -
(1) (A)-0), B)-(, (-, (D)-(V)
(2)  (A)-(m, (B)-(I), (C)-(IV), (D)-(I)
(3)  (A)-(v), (B)-(IN, (C)-(n), (D)-(0)
4)  (A)-(m, (B)-(IV), (O-(), (D)-(IN)

Question Number : 22 Question Id : 133327262 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . Adepocere change is the modified condition of decomposition in the
dead body.
Statement Il There is hydrolysis and hydrogenation of fatty acid in the presence of

water in adepocere change.

In the light of the above statements, choose the correct answer from the options given

helow :

(1) Both Statement | and Statement Il are true
(2)  Both Statement | and Statement Il are false
(3)  Statement | is true but Statement Il is false

(4)  Statement | is false but Statement Il is true

Question Number : 22 Question Id : 133327262 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

a‘ﬁa’fwlﬁqm%

FF|: G RRE TR uRad, T a1 Rafda =)

FUI:  TOURR IRa ¥ ooy 3w & SufRd ¥ T @1 SRgiaund d
HUSIEENEENIE

SRIGd DY & 3elie T, T fu e faded T ¥ el SR o1 g9 Pifoit -

(1) BRI TU’

@) IR IS

(3) @I 9T e, A P || TR
(4) Y| 3, Cilch B || G &

Question Number : 23 Question Id : 133327263 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Match Parada Samskara with their respective effects on Parada, benefits (Phala) or
therapeutic benefits after processing as per Rasaratna samucchaya.

List | List Il
(Parada Samskara) (Effects on Parada or therapeutic benefits)
(A) Niyamana ()  Vangadi samparkaj Kanchukaghnam
(B) Deepana () Murccha Vyapatti Nashana
(C) Utthapana () Grasarthi Jayate
(D) Patana (IV) Chapalatva Nivruttaye

Choose the correct answer from the options given below :

(1) (A, B)-(0), (C-(V), (D)-(l)
(2) (A, B)-(V), (C)-(1), (D)-(l)
(3)  (A-(V), (B)-(l), -, (O)-0)
(4) (A, B)-(V), (-, (-0

Question Number : 23 Question Id : 133327263 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

- o G G-l P AT BT : ToRETT = & HJ8R URG SERI 61 URG R YT,
TR [l T PI HeTgUl

Nl T
(URG §¥R) (URG T YT, YR B/
fafebcat )

) () TgIc Gubd gy
(B) ¢ O CIE LN
€ S iy el S
(D) T (V) g9 g
Frd fow U ol & O U8 SR BT T DI -
(1) (A, (B)-(1), (C)-(Iv), (D)l
(@) (AN, (B)-(v), (C)-(1), (D)~
(3)  (A)-(V), (B)-(lIn), (C)-(I, (D)-(1)
@) (A, (B)-(V), (©)-(m, (D)-(1



Question Number : 24 Question Id : 133327264 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

In the preparation of Asava-Arista, wherever the quantity of Jaggery, Honey and
Prakshepa is not mentioned, then which is the correct quantity of these in respect to
churna for 1 Drona Drava (Medicated liquids, Swaraga, Kwatha, etc)?

(1) Jaggery-1.5 Tula, Honey-1/2 Tula and Prakshep-1/10" Tula
(2)  Jaggery-1 Tula, Honey-1/2 Tula and Prakshep-1/10" Tula

(3)  Jaggery-2 Tula, Honey-1/4" Tula and Prakshep-1/10" Tula
(4)  Jaggery-1Tula, Honey-1 Tula and Prakshep-1/100" Drona

Question Number : 24 Question Id : 133327264 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

31rg 3R Fofor 3 o 7, Ty 3R WA 3 TE wTs 6l a9 1 Q01 (3hufd 5g TR,

BT SNE) & fO 3701 el TR 01 @1 Sfugf Tl a1l e
(1) TS-15 gal, 7Y-1/2 g, T&T-1/10" gt

(2)  TE-1 e, AY-1/2 T, WAT-1/10% el

(3)  TS-2 e, HY-1/4t e, W&T-1/10t el

(4)  T[S-1 e, 7Y-1 qal, H&Y-1/100t 0T

Question Number : 25 Question Id : 133327265 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which of the following term explains uneven distribution of colour on a Tablet?

(1)  Lamination (2) Capping
(3)  Motling (4) Picking

Question Number : 25 Question Id : 133327265 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

9 H Y D1 91 Ueg ddeie W & A [0 i IR Hdl 5?2

ORGICERE (2) HUIT
(3)  Hiefd 4) Ui

Question Number : 26 Question Id : 133327266 Question Type : MCQ Option Shuffling : No



Correct Marks : 4 Wrong Marks : 1

As per Rasaratna Samucchaya, which among below mentioned is correct sequence of
pharmaceutical processing of Parada Samskara?

Choose the correct answer from the options given below:

Swedana, Mardana, Murcchana, Utthapana, Patana, Rodhana, Niyamana, Deepana,
Charana, Jarana, Ranjana, Sarana, Vedha

Swedana, Mardana, Murcchana, Patana, Utthapana, Rodhana, Niyamana, Deepana,
Charana, Jarana, Ranjana, Sarana, Vedha

Swedana, Mardana, Murcchana, Utthapana, Patana, Nivamana, Rodhana, Deepana,
Charana, Jarana, Ranjana, Sarana, Vedha

Swedana, Mardana, Utthapana, Murcchana, Rodhana, Patana, Niyamana, Deepana,
Charana, Jarana, Ranjana, Sarana, Vedha

Question Number : 26 Question Id : 133327266 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

TR Qg & SR Fafcifed Weaidr ave fFufo gibarst & &0 1 9 e SR |
&M 91 A S g7

(1)
(@)
()
4)

T, He, T, SR, UTeH, e, e, S, R, SR, g, IR, 44
T, W, e, UTeH, SR, e, 1w, S0, IRV, IRV, 3, R0, Y
T, Ha, Fw, S, T, 1w, 1%, S, IRV, SRV, ¥, TRV, aY
TG, He, ST, Hse, V14, U, e, S, dRvl, RO, ¥, IR, 44

Question Number : 27 Question Id : 133327267 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to Rasa Tarangini, which of the following statement is correct in reference of
preparation of Artificial Haratala?

1
2
3

(
(
(
(4

)
)
)
)

Shankha Visha : Gandhaka in a ratio of 49 : 24
Shankha Visha : Gandhaka in a ratio of 50 : 25
Shankha Visha : Gandhaka in a ratio of 54 : 28
Shankha Visha : Gandhaka in a ratio of 60 : 30

Question Number : 27 Question Id : 133327267 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



AT AT 101 & e o ARl & SR DM I B A §?

(1) GHdY : Tiejd 3T | 49 : 24 (2) SRGIAY : Titfh SFUIA T 50 : 25
()  SGMqY : Tiefd U H 54 : 28 (4) SRGIAY : 7itfh UG T 60 : 30

Question Number : 28 Question Id : 133327268 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to Sharangdhara, which of the following is the correct sequence of different
layers of Sura from top to bottom :

A)  Medaka
B) Prasanna
) Vakkasa

D) Kadambari
E)  Jagala

Choose the correct answer from the options given below :

(1) BDEAC
() BED,CA
() CED,BA
4 CAEDB

Question Number : 28 Question Id : 133327268 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



3 ARG o YR G 000 KR 9 i i & el &I &1 4g1 31 67

@

(B)  Ugdl

€ ddhY

(D) dIEHR

(B)  l¥lc

i feu M faaenl # U gt S &l 99 Sl
(1) BDEAC

) BED,CA

3) CED,BA

4 CAED,B

Question Number : 29 Question Id : 133327269 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which statement is FALSE in respect to Arogyavardhini Vati mentioned in
Rasaratnasamucchaya?

1
2
3

)
)
)
4)

(
(
(
(

Loha, Abhra and Shulva Bhasma are ingredients.
It is mentioned to prepare vati of Rajakola Pramana.
Triphala and Trikatu are to be taken in equal quantities.

The Vati was innovated by Nagarjuna Yogi.

Question Number : 29 Question Id : 133327269 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

FRAGT & IR R 9t & G d o qrdy 3[d g2

(1

(3
(4

)
)
)
)

dig, 31y Ud Yed U Uh G G |
XISl & 0] & 9d] S DI Hgl 5|
PIwer td fAde SHH IE1 § o & fayH g
RIS g1t < 39 961 &1 SHfdshR fdbar|

Question Number : 30 Question Id : 133327270 Question Type : MCQ Option Shuffling : No



Correct Marks : 4 Wrong Marks : 1

According to Acharya Chakradatta, which statement is FALSE in reference of Simhanada

Guggulu?
(1) Gandhaka is an ingredient.

(2)  Paka is to be done in Chitra Taila.
(3)

(4)

4

Paka is indicated to be done in Lauha Patra.

It is also called Bhrugu Rasayana.

Question Number : 30 Question Id : 133327270 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

RigIE T & Y1 H S Ihed & SATUR DM W HY 3T &7

(1) 7Y% U ¥edh g g |

@) T ddH Uld & $I fauH B
(3) digUHH U M g

(4) 3 W Sgd gl

Question Number : 31 Question Id : 133327271 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Under which Mahakashaya Charak has included Arjuna?

(1) Jeevaneeya Mahakashaya (2) Shonitsthapan Mahakashaya
(3)  Hridya Mahakashaya (4) Udardprashman Mahakashaya

Question Number : 31 Question Id : 133327271 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

3ol @ S =R 7 fary HeTmuE H 3@ 82
(1)  SllaHI geldu™g (2) =N ®IY= 916N
(3) B HTHY™ (4) 33 UHA HEIHYT

Question Number : 32 Question Id : 133327272 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Match List | with List Il : (According to Charak)

List | List Il
(A) Aayasa ()  Amlapittajanana
(B) Shashkuli ()  Apathyakara
(C) Kulattha () Vritikara
(D) Anna (IV) Shleshma pittajanana

Choose the correct answer from the options given below :

(1) (A=), B)-(), (O-(V), (D)-()
2) (AN, B)-(IV), (O-(D). (D)-(Im)
G) (A=), (B)-(I), (Q)-(IV), (D)-(Im)
@) (A-(V). B)-(I, (©-(, (D)-()

Question Number : 32 Question Id : 133327272 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

-1 & 1Y Ydi-11 DT e DI : (@R & 3FTR)

11 -1l
(A) 3T () SRS
(B) Gl (I ST
€ PaY (g
(D) 314 (V) U
Hid feu U fadhedl § U Tt SR 1 99 DIfoIL ;
(1) @-(m), (B)-(), (O-(v), (O)-()
2 @-(n, B)-(V), (O-(1), (D)-(IIN)
3) A0, B)-(I), (O-(v), (D)-(IIN)
@) (A)-av), B)-(I), (O-(1), (D)-()

Question Number : 33 Question Id : 133327273 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Complete the shloka according to Madhav Nidana in the context of Shotha.

an

cha shvayathu sameernatal”

(1) Ratribali (2) Sayambali
(3)  Madhyanhabali (4) Diwabali

Question Number : 33 Question Id : 133327273 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

qred e | MY YHI0 & IR Ilh bl R D1

9 Y9 RN |

(1) AEEd 2) IRl
(3) HaRgddl (4) farEei

Question Number : 34 Question Id : 133327274 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List II
(A) Benedict's test ()  Ketone
(B) Rothera's test (Il Urobilin
(C) Harrison's test (I} Glucose
(D) Schleisinger's test (IV) Bile pigment

Choose the correct answer from the options given below :

(1) (A=, (B)-(1), (O)-(IV), (D)-(IN)
(2) (A=), (B)-(1V), (C)-(1), (D)-(IN)
(3) (A=), B)-(11), (©)-(1), (D)-(IV)
(4) (A=), B)-(1), (C)-(1, (D)-(IV)

Question Number : 34 Question Id : 133327274 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



(A) SHi8ae o O DleH
B) ARIE (an gAfefer
© sRuacw (1) TP
(D) XS C® (v) 913d fe
i feu T fadhetl & U Ugl 3 &1 99 Difolu -
(1) (A)-(111), (B)-(1), (C)-(1V), (D)-(I)
(2) (A)-(lI, (B)-(1V), (O)-(1), (D)-(I1)
(3) (A)-(lD, (B)-(11), (O)-(), (D)-(IV)
(4) (A)-(lD, (B)-(1), (C)-(11), (D)-(IV)

Question Number : 35 Question Id : 133327275 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

"R o1 93 gy i
ST P I ————'11

s the clinical presentation of which of the following state of Atisaara as per Madhav
Nidana?

(1) Amatisaara (2) Pakwatisaara

(3)  Raktatisaara (4) Gatatisaara

Question Number : 35 Question Id : 133327275 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

TR fd1 75 YRy T fd |
eIy ||
H1Yd e & SFHR 48 el Ui 9 ¥ ¥ 6 s & SR J urs ol 57

() iR () TPIHER
(3) YEIdER (4) TR



Question Number : 36 Question Id : 133327276 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Match List | with List Il : (According to Charak)

List | List Il
(Sthana Visheshakruta Vata) (Clinical Character)
(A) Kosthashrita Vata () Parvaruk
(B) Amashayagata Vata (I Trikavedana
(C) Tvak Gata Vata () Parshvashula
(D) Pakwashayagata Vata (IV) Hrinnabhi Parshva Udara Ruk

Choose the correct answer from the options given below :

(1) (A-(V), (B)-(ll), (C)-(1), (D)-(Ir)
(@) (A, (B)-(IV), (C)-(1), (D)-(Ir)
(3) (A, (B)-(In), (C)-(m), D)-(IV)
4) (A, B)-), (-, D)-(v)

Question Number : 36 Question Id : 133327276 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

il-| & 1Y G-Il T A BT : (@RD & 3FUR)

g I
(R fa=Iwehd ara) ﬁaﬁﬁa&m
(A) IS ard 1) Ydodb
(B) SHTHRIATG ard ay Bwdan
(C) GG aid ERIERG
(D) USRI dTd (V) TAMEYIERID
+d fou e fameq! & O Ugl IR 1 999 DI
(1) (A)-(IV), (B)-(lIn), (C)-(1), (D)-(I)
(2) (A)-(11), (B)-(IV), (C)-(1), (D)-(1)
(3) (A)-(1), (B)-(), (C)-(lm), (D)-(IV)
4) (A)-(11), (B)-(1), (O)-(lm), (D)-(IV)



Question Number : 37 Question Id : 133327277 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to Charaka "Bhinnama shleshma samsrushta guru varchah pravartanam” along
with "kaphamehasya cha agamah” is mentioned in which of the following?

1) Purishaja Anaha

(1)

(2)  Kaphaja Graghani

(3)  Shleshmana samvruta apana
(4)  Kaphavruta Saman

Question Number : 37 Question Id : 133327277 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

RS $ FER " FHATRCRGY-IHad: Jai1y” U4 "dhiged ;" U5 aeu Fe 8 9
for o T &7

TR 316

1

(1)

() HHS el

(3) YU Had 3
(4) TEIGd JHH

Question Number : 38 Question Id : 133327278 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which of the following is also called as “Swatantra, Vyaktalinga (¥dd-d, de#df(ﬁﬁ'J vyadhi”?

(1) Anubandha (2)  Prakrut
(3)  Anubandhya (4) Vaikrut

Question Number : 38 Question Id : 133327278 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

"X, Hddierg AN U8 19 H I {69 718 I Hi S W11 82

Question Number : 39 Question Id : 133327279 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



"W—W—WJIUSH" are the classical manifestation of which of the following type of
krimi as per Madhav Nidana?

(1)  Bahya Krimi (2)  Shleshmaja Krimi
(3)  Raktaja krimi (4) Pureeshaja krimi

Question Number : 39 Question Id : 133327279 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

myd [ & AR "PIo-Usal-Pug-TueH” 4 | ¥ f6d JoR & $ 31 AR«
ffirefd 82

(1) TP () W i
(3) TE P (4) T P

Question Number : 40 Question Id : 133327280 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement | . Progressive chranic destruction of more than 90% of adrenal cortex

on both sides causes Addison’s disease.

Statement Il  : Tuberculosis and metastatic cancers of the adrenal glands are

implicated in the majority of cases of Addison's disease.

In the light of the above statements, choose the correct answer from the options given

helow :

(1) Both Statement | and Statement Il are true
(2)  Both Statement | and Statement Il are false
(3)  Statement | is true but Statement Il is false

(4)  Statement | is false but Statement Il is true

Question Number : 40 Question Id : 133327280 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



?ﬂ%ﬁWﬁﬂW%
FU|: GHI SR & ST DR b 90% U 3 Fcrficr witof farmmey wemy ot

FRU B

T USH oY & agEiey Sl B UgHa 9l &1 SR Feiky Ud derelied
e T W B

SWRIe DY & 3ffeiiep 1, i< 187 70 fapedi 1 Y Fe¥ I9ed SR @1 90 Difoi :

(1) @RI EH Sele

() YR GH Tad g

(3) @Y FEIg, Tlidh Do I TTeid §
(4) T TTAd &, Tl P I TR 8

Question Number : 41 Question Id : 133327281 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to Bhavaprakasha, fish from which of the following source is ideal in
Vasanta ritu?

(1 Wells (2) Lakes
(3)  River (4) Waterfalls

Question Number : 41 Question Id : 133327281 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

YAUHIY & SUR, F8 T $H 9 Hid 31 98 a9 BgHd fedd o7

(M @d (2) IEE)
3) Tt (4) dvsd

Question Number : 42 Question Id : 133327282 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Which of the following causes hindrance to attain success in yoga according to Hathayoga
pradeepika?

(1) Dhairya (2) Tatwajnana

(3)  Sahasa (4) Janasanga

Question Number : 42 Question Id : 133327282 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

ToaN USET & SuR 9 & 9 o GRS ¥ a1t SRS §idT 87

(m oo 2) dagH=
(3) dHied (4) S

Question Number : 43 Question Id : 133327283 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Where is the regional office of the South Central Asian region of UNICEF?

(1) New Delhi (2) Colombo
(3) lslamabad (4) Kathmandu

Question Number : 43 Question Id : 133327283 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

IR &1 GI&uT Hed URMT &8 BT Pl S8l 67
(1) i oot (2) DIl
(3) SWHEG 4) DIBHS

Question Number : 44 Question Id : 133327284 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Consider the following facts regarding Xerophthalmia :

A)  Xerophthalmia is caused due to Vitamin A deficiency.

The most commonly affected age group is children of 3 to 5 years.

(

(B)

(C)  Itis mostly related to weaning.

(D) It can be prevented by feeding with skimmed milk.
(

E)  Oral administration of large doses of Vitamin A is not an effective remedy in
vulnerable groups.

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only
(2)  (A), (D) and (E) only
(3)  (A), (B)and (E) only
(4)  (A)and (D) only

Question Number : 44 Question Id : 133327284 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Brieel & ar ¥ FHafifed aul | fdar &1

A BReE e d@-A $ e S 394 gidl ol

®) ARSI 3T 5 I 39 a1 g I §d gld o |

(O U8 MOSHIRT: I (weaning) ¥ TERIT B |

(D) WIS gY fUTIHR 20D AP Tobd 3|

© e I H Sl ad A SR AE § A 99 UE yHdt 39 el 8

0 T el SR BT 9 Difor -

(1) ad (A), (B) 3R ()
(2)  ad (A), (D) 3R (B)
(3)  ad (A), (B) 3R (B)
(4) Had (A) 3R (D)

Question Number : 45 Question Id : 133327285 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . When Chlorine is added to water, Hydrochloric acid and

Hypochlorous acid are formed.

Statementll  : The disinfection action of Chlorine in water is mainly due to

Hypochlorous acid.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both Statement | and Statement Il are correct
(2)  Both Statement | and Statement Il are incorrect
(3)  Statement | is correct but Statement Il is incorrect

(4)  Statement | is incorrect but Statement Il is correct

Question Number : 45 Question Id : 133327285 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

ﬂﬁ%a’fwﬁqw%

TUF|: O FARH T E A § 79 SRgIaRiG S 3R SISUIiRG S Sad BIdl
8l

PN FARHA BIYF T [ORHH P GRIe: BIRUIaaiRy 3 &) aofg U aidl o

SWRITd S & 3l |, i< 3T T fadpedi # & Yy SUged IR 91 T4 Difoiw

(1) YR 3 et
@ B RN T €
(3) ®Y I Tere, Afh HUT 1 TAd §
(4) | g, i Y 11 TE T ©

Question Number : 46 Question Id : 133327286 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled

as Reason (R).

Assertion (A): It is generally advised to consume madhu by adding in the foods and

drinks in Varsha ritu.

Reasons (R):  Vataprakopa occurs in Varsha ritu.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2)  Both (A) and (R)are correct but (R)is NOT the correct explanation of (A)
(3)  (A)is correct but (R) is not correct
(4)  (A)is not correct but (R) is correct

Question Number : 46 Question Id : 133327286 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

A & @ 16U TU S U SR (Assertion A) & T H foifd § @ GUI SHb IR
(Reasons R]aﬂ?‘?ﬁ:

DY (A): WIS g H e Ud g el o 91y e frclis Wt o1 e fovan
Tl
BRUR):  dRq H DI Bidl 3

SRITd B & 3ffelidp ¥, T G 0 faehedl ¥ U Wg1 SR &1 99 Biforu |

() () 3R RS I, 3R (R), (4) DI ) M §
2 (A) AR R THITAE, T (R), () B TG A T
B (MW &g R MR

@ (A, fbg () TR

Question Number : 47 Question Id : 133327287 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



What are the reasons for the laghu guna of Goat milk?

(A) It does more physical activity.
(B) It consumes more water.
(@) It eats Katu-tikta rasa predominant feeds.

(D)  Goat consumes less quantity of water.

Choose the most appropriate answer from the options given below :

(1) (B) and (D) only
(2) (A) and (B) only
(3) (A), (C) and (D) only
(4)  (C) and (D) only

Question Number : 47 Question Id : 133327287 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

3SIEIR T 0T 51 & 1 HRUI 82

(A) U8 &l IRIRG Tfdfafd Bt g1

(8) Tg UIET Ul Uit g1

() Tg He-fdad T UYH ER BT Ja7 Tl 5

(D) T& HH HEAH Uri didi B

i< f4u U faedl § Q Il 3k &1 904 Bifolg ;
(1)  &ad (B) 3R (D)

(2) ad (A) 3R (B)

(3) &ad (A), (O 3R (D)

4)  &dd (C) 3R (D)

Question Number : 48 Question Id : 133327288 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Which of the following microorganism is majorly responsible for condition 'Farmer's
Lung"”?

1
2
3
4

Micropolyspora faeni

(1)
2)  Cryptosporidium hominis
(3)  Cryptococcus gattii

4)

Hymenolepis nana

Question Number : 48 Question Id : 133327288 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Frafafed 3 3 o 1 el BRI o @1 Rufa & fou Te v 3§ fomier 32

(1)  TISHIURIRGRT bt
() forpreiRisan giff
@) fppipmwierR

(4)  CIRHARIUY A

Question Number : 49 Question Id : 133327289 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Out of the following which is the fibrous septa that supports the breast?

(1)  Cardinal ligament (2) Cooper's ligament
(3) Mackendrodt's ligament (4) Broad ligament

Question Number : 49 Question Id : 133327289 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

fafaRad &= It Uil (WISsd YT W &1 3MUR g2

(1)  Pifsd fermHe @ $ud fermHe
(3) Hpgled fermie @) dI3 fermde

Question Number : 50 Question Id : 133327290 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . According to Kashyapa, in case of Stanakilaka the first line of

treatment is Ghritapana.

Statementll  : According to Kashyapa, Lehana karma is contraindicated in babies

born to Dushprajata and Bhrishavyadhi pidita.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both Statement | and Statement Il are correct
(2)  Both Statement | and Statement Il are incorrect
(3)  Statement | is correct but Statement Il is not correct

(4)  Statement | is not correct but Statement Il is correct

Question Number : 50 Question Id : 133327290 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

3 PR E:
U1 DAY P AAHR KPP G IR HauyH Yaur 4o (e |
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Question Number : 51 Question Id : 133327291 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Which of the following diagnostic tests are carried out for female infertility?

) Diagnostic Laproscopy
) Follicular study

) Hysterosalpingography
D)  PAP smear

Choose the most appropriate answer from the options given below :
(1) (D) only (2) (A), (B), (C) only
(3)  (A). (D) only (4)  (B). (C). (D) only

Question Number : 51 Question Id : 133327291 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

= Ru v smwifes il 1 @ oF 9t Gt Widwid & fou s idl 87
A) SOURed AUl
B) wal

Q)
D) fUgdl (PAP) ®HIR

-1 34U U fasbedl § 9 9ad SR B1 98- Dol :
1
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(
(

(1)
(2)
(3)
(4)

Question Number : 52 Question Id : 133327292 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Ruksha guna of vayu along with the dushta shonita is specific hetu of which of the
following yonivyapad?

(1) Mahayonivyapad (2) Vataj yonivyapad
(3)  Putraghni (4) Vamini

Question Number : 52 Question Id : 133327292 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



aId BT =& 10T iR ¥ YA & SRUT -4 & J D91 Al-ea19E gidl 67

(1) HeliHcdmg (2) da9 giFeme
3) g (4) aifE

Question Number : 53 Question Id : 133327293 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Match List | with List Il : (According to Charaka)

List | List Il
(A) Second month foetus ()  Development of all Indriya and
organs
(B) Third month foetus (I)  Mamsashonita Upachaya
(C) Fifth month foetus (I} Bala Varna Upachaya
(D) Sixth month foetus (IV) Ghana Sanjayate

Choose the correct answer from the options given below :

(1) (A-V), (B)-(I1), (C)-(1)., D)-(1l)
(&) (A=, (B)-(1), (C)-(In), (D)-(IV)
(3)  (A)-(V), (B)-(I), (C)-(1), (D)-(1l)
() (A=), (B)-(IV). (C)-(l), (D)-(1)

Question Number : 53 Question Id : 133327293 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Y11 & 1Y G- 11 DT e DI : (FRP & 3{IR)

BEIA! G111
A Gdgammyd () Wdlegdgd squdral
B) gl Eg T () AR 3y=y
Q) e HET () & 3o Iu=g
(D) w§ ARG T (V) o 9obd
i fou U fadedi 4 9el SR &1 98- Biforg
(1) (A)-(V), (B)-(ID), (C)-(1), (D)-(1)
(2) (A=), (B)-(1), (C)-(IN. (D)-(IV)
(3)  (A)-(V), (B)-(1), (O)-(11), (D)-(1)
(4) (A, (B)-(IV), (O)-(n), (D)-(1)

Question Number : 54 Question Id : 133327294 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to Sushruta, which of the following is not the reason of Mudhgarbha?

Abhighata (Trauma)

)

) Yana Vahana (Travel)

) Madhura Rasa Sevana (Intake of sweets)
y
]

Fxcessive intake of kshara

Question Number : 54 Question Id : 133327294 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

TYd & AUR, Fafafaa & 3 o a1 g &1 8 781 72

(1)  3ffHed
2) IFE-digd
3)  HYRIY B YA

@) YR DI 3ANH Yad

Question Number : 55 Question Id : 133327295 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



According to Sushruta, HIg: Pi& T [Raid #< Wad T is said in the context of

(1) Leena garbha (2) Nagodara
(3)  Vatabhi panna garbha (4) Upavishtaka garbha

Question Number : 55 Question Id : 133327295 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

YA P SR, HIG: Plé A Al I Wed 7' U8 & Uy o Ter g
(1) e Q) TR
(3) i () Sufawe mf

Question Number : 56 Question Id : 133327296 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to Charak '3J4shHI’ is said in the context of which of the following
Yonivyapada?

(1) Mahayoni (2) Shandhi
(3)  Sannipatika (4)  Vamini

Question Number : 56 Question Id : 133327296 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

NP IR ‘SS9 T H J difade F e d werman g2
(1) Hgm™M 2) uel
(3) gREdId® (4) afaR

Question Number : 57 Question Id : 133327297 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

As per Charak, which of the following dravya is not included in Prajasthapana gana?

(1) Shiva (2) Avyatha
(3)  Shatvirya (4) Durva

Question Number : 57 Question Id : 133327297 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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(1) R 2) 3l
(3) widt (4) qdf

Question Number : 58 Question Id : 133327298 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

In which of the following Sambhita "Krimi Ashaya" is described?

(1) Harita Sambhita (2) Kashyap Sambhita
(3) Ashtanga Hridaya (4) Madhava Nidana

Question Number : 58 Question Id : 133327298 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

o & O foog dfgar & - fopfiy smer &1 qui= far man g2

(1) BRI dfgar (2) gy Efgdr
(3) S3FFTE™ 4) =Yg FHem

Question Number : 59 Question Id : 133327299 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

(1) Alasaka (2) Pandu
(3)  Atisara (4) Kandu

Question Number : 59 Question Id : 133327299 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

DU & AR ... <gdqudn [y ¥ 9 fooy iy o fiyerdn g2

(1) 3D @ Uy
3)  SdOR 4) DG

Question Number : 60 Question Id : 133327300 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



“Scrotal tongue” is the clinical feature of which one of the following disease?

(1) Down Syndrome (2) Turner Syndrome
(3)  Gaucher Syndrome (4) Klinfelter's Syndrome

Question Number : 60 Question Id : 133327300 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

guIad fSigr (9 | I fdoy 1Y &1 i @emn g2
(1) e RigH ) TRRgm
@) TR RigH (4) FThecR Righ

Question Number : 61 Question Id : 133327301 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to Kashyapa, Kshiralasaka vyadhi is caused by which one of the following factor
in child?

(1) Tridosha vitiated breast milk (2) Affliction of Revatigraha
(3)  Hereditary factor (4)  Erruption of Teeth

Question Number : 61 Question Id : 133327301 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

HIYU & YR 9 ¥ U fbd 3 U dicdd d &ikiayd A1 gidi g2

(1)  TAcvgy W=uH @) Yadugpidd
3)  PaUgN (4) Grdigd

Question Number : 62 Question Id : 133327302 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Arikeelaka is the contribution of which one of the following Samhita Grantha?

(1) Kashyap Samhita (2) Bhav Prakasha
(3)  Ashtanga Hridaya (4) Harita Samhita

Question Number : 62 Question Id : 133327302 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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(1) HYgy dfgd (2) HId UhI
(3) SIFIgcd (4) eRIdgfgdr

Question Number : 63 Question Id : 133327303 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled

as Reason (R).
Assertion (A):  Regular medicine should not be used in children less than 12 years.
Reasons (R):  Prana, Dosha, Dhatu, Bala and Ojus are in balanced state in their body.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2)  Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3)  (A)is correct but (R) is not correct

(4)  (A)is not correct but (R) is correct

Question Number : 63 Question Id : 133327303 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 64 Question Id : 133327304 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

According to Gopalan's Hypothesis, choose correct statement regarding Protein Energy

Malnutrition.

Statement | . Nutritional Marasmus may be the result of extreme degree of
dysadaptation and Kwashiorkor is the result of adaptation.

Statement Il : Kwashiorkor results from overproduction of free radicals and

breakdown of protective mechanism.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both Statement | and Statement Il are correct
(2)  Both Statement | and Statement Il are incorrect
(3)  Statement | is correct but Statement Il is incorrect

(4)  Statement | is incorrect but Statement Il is correct



Question Number : 64 Question Id : 133327304 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 65 Question Id : 133327305 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Match List | with List |l :
Match the X-ray Finding and disease.

List | List Il
(X-ray findings) (Disease)
A)  Snow Strom Appearance )  Pericardial Effusion
B) Snow Man Appearance ) Transposition of greater Arteries
C) Water Bottle Configuration

D) Egg on side appearance

Il Total Anomalous Venous Return

(
(
(
(IV) Miliary Tuberculosis

Choose the correct answer from the options given below :

1) (A, @), (-, [O)-(V)

(1 (A0, B

(@) (A-(V). (B)-(I), (C)-(I). (D)-()
() (A, (B)-(V), (-, (D)-(li)
@ (A-V). B)-(ln, C)-0), (O



Question Number : 65 Question Id : 133327305 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Tl & A1 Yll-11 1 AT Bifor -
T ey 2R oTfd &1 e &Y
i1 QI-II

(&-fu (Y
(A) I ARy () URSRIST WA
(B) I 3Ry (i) CFIUIRE HTh e AReR
(C) TR icd PHBIRIH () Tled 3FEey oy Red
(D) WM TBE ARG (v) fafcrer eqRpaiy
+d feu e famedl 9 9§ 9 SR &1 991 Pifve -
(1) (A)-), B)-(1), ()=, (D)-(IV)
(2)  (A)-(IV), (B)-(lN), (C)-(Hm), (D)-(1)
(3) (M-, (B)-(IV), (C)-(11), (D)-(l)
(4)  (A)-(IV), (B)-(l), (C)-(N, (D)-(1)

Question Number : 66 Question Id : 133327306 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Match List | with List |l :

List | List Il
(A)  Kridabhumi ()  Sajjopakaranam
(B) Kumaradhara (I  Ghoshvant
(C) Kumaragara () Nih Shatropalsharkara
(D) Kridanaka (IV) Baalchittavit

Choose the correct answer from the options given below :

(1) (A, B)-(, (©)-), (O)-(IV)
(2) (A, B)-(IV), (CQ)-(1), (D)-(I1)
3) (A, (B)-(IV), (O)-(IN), (D)-(IT)
@) (A)-(), B)-(), (C)-(IV), (D)-(llT)

Question Number : 66 Question Id : 133327306 Question Type : MCQ Option Shuffling : No



Correct Marks : 4 Wrong Marks : 1

Y1 & 1Y Y111 DT T Difoi -
B8 BEIR
() wisTyH () TSIgHIoH
(B) PHRIUR () H9dd
Q) PHRFIR (DIREE T NEER]
(D) hlsdd (V) sraferiidd
=id fu U fadedl ¥ Q gl 3ur &l 904 difolu :
(1) (A, B)-1, (-1, (O)-(IV)
(2) (A, (B)-(IV), (O-(1), (D)-(IN)
(3)  (A)-(D. (B)-(IV), (O)-(1), (D)-(IIT)
4)  (A)-, (B)-a1, (C)-(IV), (D)-(IIT)

Question Number : 67 Question Id : 133327307 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to Charaka, what are the therapeutic recommendations for the management of
Taruna Jwara?

(1)  Langhana, Jwarahara Kashaya, Ghrita pana, Siddha Ksheera pana

(2)  Vamana, Langhana, Pachana of Avipakva Dosha

(3)  Langhana, Swedana, Vamana, Yavagu, Tikta Rasa sevana, Pachana of Avipakva
Dosha

(4)  Langhana, Pittahari chikitsa, Siddha Ksheera, Deepana with tikta Rasasiddha Ghrita

Question Number : 67 Question Id : 133327307 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 68 Question Id : 133327308 Question Type : MCQ Option Shuffling : No



Correct Marks : 4 Wrong Marks : 1
According to Charaka, what are clinical manifestations of Jwaramoksha?

(1
(2
(3
(4

) Vigata Klama — Santaapa, Avyatha, Vimalendriyata
) Sharir shaityata, Dahahani, Rochakata

) Vigata vairasya, Vigat Daha, Sharir shaityata

) Vigata Shitasahyata, Vigat Daha, Sharir shaityata

Question Number : 68 Question Id : 133327308 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

RS AAIR SaRAIE P 0T T 52

(1)  fovTa oy — Haru, ey, fandisaarn
(2) IRRLA], FREIH, IFPHl

3) fama avw, favd aE, TR

(4)  fod <idreerar fand are, TRRAAA

Question Number : 69 Question Id : 133327309 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

"I g HEH gl YA is mentioned by Charakacharya in which of the following

context.

(1)  Visarpa (2) Gulma
(3)  Kushtha (4) Apasmara

Question Number : 69 Question Id : 133327309 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

"I O WU (o8] Yrar SRarn A Feied 1 ¥ fod g 1 oo fbar g

Question Number : 70 Question Id : 133327310 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



According to Vagbhata, “Bavishyatah Kusthasamam” is the Lakshana of which of the
following?

(1) Arbud
(2)  Apachi
(3)  Visarpa
(4)  Vatarakta

Question Number : 70 Question Id : 133327310 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

AFYEER — Hidwd: ST 9 o 9 69 &1 a8 67

(1 3
()  3Udi
@) faud
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Question Number : 71 Question Id : 133327311 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled

as Reason (R).

Assertion (A):  According to Charak, Pachana and Shamaneeya kashayas are to be

administered to the patient after the 6™ day of Jwara.

Reasons (R):  According to Charak, Pachana kashaya to be administered for Sama

dosha pachana and shamana kashaya for Doshashamana after pachana.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2)  Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3)  (A)is correct but (R) is not correct

(4)  (A)is not correct but (R) is correct

Question Number : 71 Question Id : 133327311 Question Type : MCQ Option Shuffling : No



Correct Marks : 4 Wrong Marks : 1
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Question Number : 72 Question Id : 133327312 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to Chakradutta, Takra is used in Grahanidosha chikitsa due to following
qualities.

A
B

( Kashaya, Ushna, Vikashi, Rooksha
(

(C

(

)
) Deepana, Grahi, Laghu, Madhura paki
) Swadu, Amla, Sandra, Avidahi

D)  Kashaya, Sheeta, Vyavayi, Snighdha

Choose the most appropriate answer from the options given below :

A) and (B) only

(1

(2)  (B)only

(3)  (A), (B)and (C) only
(4)  (B)and (D) only

Question Number : 72 Question Id : 133327312 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



e b SR, e Ui o 9oig Y Ao 1 MR 10 Gy faifdsean o SUgT o o 8|

A PG, I, faBmil, wa
(B) U, A3, WY, ALY Tl
€ g 3, UT, Hldare
(D) DY, i, iy, iy

+ftdl T T faebeul o GEt SR 1 95 Do -
(1) &ad (A) and (B)
(2) Pad (B)

(3)  ad (A), (B) and ()
(4) Had (B)and (D)

Question Number : 73 Question Id : 133327313 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Match List | with List Il : (As per Astanga Hridaya)

List | List II
(A) Eladigana taila (I)  For Parisheka in prameha
(B) Aragwadadi varga kashaya ()  For Vranaropana in prameha
(C) Asanadi gana kashaya (Ill) For Pana in prameha
(D) Vatsakadi gana kashaya (IV) For Udwartana in prameha

Choose the correct answer from the options given below :

(1) (A)-(V), (B)-(I1), (C)-(I), (D)-(IlT)
(@) (A, (B)-(1), (C)-(1V), (D)-(I)
(3)  (A)-(), (B)-(), (C)-(), (D)-(IV)
@ (A, (B)-(V), (C)-(1), (D)-(1H)

Question Number : 73 Question Id : 133327313 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



-1 & 1Y Y11 &l T BIfo : (351 gad & F9R)
Tl THl-I1

(A) TG T ol @ uafue gag o
(B) 3IRAY I DY ()  9URIYUNY yHg H
(C)  3HIG U S an g yHg H
(D) dHBIG T HYUR (V) Sgdad urg o
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(1 (A)-(V), (B)-(I), (O)-(1), (D)-(1)

(2)  (A)-(), B)-(), (O)-(V), (D)-(I1)

(3)

(A)-(ID, B)-(), (Q)-(n, D)-(IV)
4 (A=), (B)-(V), (Q-(1), (D)-(I11)

Question Number : 74 Question Id : 133327314 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

'Mahagadam Mahavegamagnivachhighrakari' is described by Charaka for in which of the
following context.

(1)  Gulma (2) Visarpa
(3)  Rakta pitta (4) Apasmara

Question Number : 74 Question Id : 133327314 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 75 Question Id : 133327315 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to Charaka, which of the following is a type of Pittaja Prameha?

(1)  Vasa Meha (2) Shukra Meha
(3) Kala Meha (4)  lkshu Meha



Question Number : 75 Question Id : 133327315 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

WRHHIR 9 7 Y S 91 e Ui $1 06 UHR &2

(1) dHIHE 2) b HE
3) HIdAE (4) sHE

Question Number : 76 Question Id : 133327316 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to Sushruta, "Shad dharana yoga" is indicated for

(1) Amashaya gata vata (2) Pakvashaya gata vata
(3)  Basti gata vata (4) Shukra gata vata

Question Number : 76 Question Id : 133327316 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

gYd & AdFYR N3 ¢RI ART fby 3fqey1 § (Afcy g2

(1)  SHRA 7Td d1d (2) U T dId
3) SRJTdard (4) b 7Td dId

Question Number : 77 Question Id : 133327317 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

In case of Insufficiency of Vit. D3 the levels in blood will be in the range of (ng/ml)

(m >30 (2) 21-29
3) 10-20 4) <10

Question Number : 77 Question Id : 133327317 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Vit. D, @I 3eqar | (Insufficiency), Ydd | ?ﬁlﬁﬂﬁﬁ AL (ng/ml) &1 E?I?ﬂ %?

M >30 @) 21-29
3) 10-20 @) <10



Question Number : 78 Question Id : 133327318 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

In which of the following disease "Tail panchaka” is indicated by charaka?

(1)  Grahani Roga (2) GulmaRoga
(3)  Atisara (4) Arsha

Question Number : 78 Question Id : 133327318 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

WP A TG ®1 g T T oy oty o g faear mar g2

(1)  TEURWT (2) TR
(3) SdER 4) ot

Question Number : 79 Question Id : 133327319 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Choose the correct combination of the following as per opinion of Charaka.

A)  Siddharthaka Snana — Kushtha
B)  Bahushoghritam Chauttarabhaktikam — Rajayakshma

(

(

(C)  Langhana — Vataja Apasmara

(D)  Panchagavya Ghritam — Hridroga
(

E)  Gandiradyarishtam — Vatavyadhi

Choose the correct answer from the options given below :

(1) (Aand (B)
(2) (B)and (C)
3) (Qand (D)
4) (D)and (E)

Question Number : 79 Question Id : 133327319 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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(1)  ad (A) 3R (B)
(2)  ad (B) 3R (O
(3) ®add (O 3R (D)
(4)  @ad (D) 3R ()

Question Number : 80 Question Id : 133327320 Question Type
Correct Marks : 4 Wrong Marks : 1

According to Ashtanga Hridaya, "ARDITA' is caused due to Dharana of

(1) Nidra Vega (2) Kshavathu Vega
(3)  Trishna Vega (4) Chhardi Vega

Question Number : 80 Question Id : 133327320 Question Type :

Correct Marks : 4 Wrong Marks : 1

IPTEESd & YR, fg A uRUT § aféa onfd Sadt gar g2
(1) Fran (2) &@ydm
(3) qgEUma @ Bidam

Question Number : 81 Question Id : 133327321 Question Type
Correct Marks : 4 Wrong Marks : 1

Number of Panchakarmasraya Yavaqu according to charaka is

4] (2) 26
(3) 28 (4) 32

Question Number : 81 Question Id : 133327321 Question Type
Correct Marks : 4 Wrong Marks : 1

: MCQ Option Shuffling :

MCQ Option Shuffling :

: MCQ Option Shuffling :

: MCQ Option Shuffling :

No

No

No

No
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(1) 24 2) 26
(3) 28 (4) 32

Question Number : 82 Question Id : 133327322 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to Charaka, Sukranashana is the lakshana of

(M Madhura Vipaka (2) Katu Vipaka
(3)  Amla Vipaka (4) Nishta Paka

Question Number : 82 Question Id : 133327322 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Wb & AR Yeh A1 BT DI &l g2
(1) AR fqurd 2) & fdus
3) i fdurs @ [EIue

Question Number : 83 Question Id : 133327323 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to Vagbhata which of the following is the synonym of "Ekayama"?

(1)  Apatanaka (2) Apatantraka
(3) Ardita (4) Pakshaghata

Question Number : 83 Question Id : 133327323 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

dFHEER, TerH HE H ¥ g o aarmicl
(1) SUdH® (2) SUd-dd
@) sfed (4) e

Question Number : 84 Question Id : 133327324 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List 1l
(A) Ghrita () Sthirakaram
(B) Taila (I Mrudukaram
(C) Vasa (1) Shleshma Vivardhana
(D) Majja (IV) Paurushopachaye

Choose the correct answer from the options given below :

(1) (A1, (B)=(1), (©)-(IV), (D)-(I)
(2) (A=), (B)=(D). (C)-(1V), (D)-(IIT)
(3) (A=), (B)-(IV), (C)-(1), (D)-(IT)
4y (A)-(IV), (B)-(lH), (C)-(I), (D)-(I)

Question Number : 84 Question Id : 133327324 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

-1 & Ty YI-11 BT T BT ;

Tdi-1 Tdl-11
(A) 9d N TRR®Y
B) dd (I HGH
(C) ad () Zeisq faasiq
(D) ¥l 1v) UreYITy
+d fU 71U fddedl # U Ugl 3R &l 99+ HIfU -

(M (A-(D, B)-(D, (O)-(1V), (D)-()
(2 (A)-(), B)-(), (©O)-(V), (D)-(II)
) (A=, B)-(V), (-, (D)-(I1)
@ (A=), B)-(1), ©-(1, (D)-()

Question Number : 85 Question Id : 133327325 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



According to Sushruta, Specific clinical application of different type of Svedana on the
basis of underlying ‘Dosha’.

A)  Tapa Svedana - Shleshmaghna

Ushma Svedana - Pittaghna

(

(B)

(C)  Upanaha Svedana - Vataghna

(D)  Drava Svedana - for Pitta Sansrishta Vata
(

E)  Niragni Svedana - for Pitta Sansrishta Kapha

Choose the most appropriate answer from the options given below :

(1) (A), (B). (C), (D) Only
(2)  (A).(C), (E) Only
(3)  (A) (C), (D) Only
4) (), (D), (B) Only

Question Number : 85 Question Id : 133327325 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

TYd b SFUR QY & YR R [l UHR & Wed o ol AR i & e 1

(A)  dITWG - SiY

(B) 3% W - fuwy

(€ U Wed - a1y

(0) &d¥Wed - i dgy ard o

6 FRUCE-Tadgyend

Hid U e fadetl H U Tg) SR &l 98- i -
(1)  Hdd (A), (B), (O, D)

@ HId W), (0, ®

3) (M), (), (D)

@ 39 (O, D) B)

Question Number : 86 Question Id : 133327326 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled

as Reason (R).

Assertion (A):  According to Charaka, Vamana Karma is Contraindicated in Samvruta
Koshtha.

Reasons (R): It may lead to ‘Maranam'.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A)and (R) are true and (R) is the correct explanation of (A)

(2)  Both (A)and (R) are true but (R) is NOT the correct explanation of (A)
(3)  (A)is true but (R) is false

(4)  (A)is fasle but (R) is true

Question Number : 86 Question Id : 133327326 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

i & P QU U § U HBYT (Assertion A) & FY H feifed § o G 3Gb RO
(Reasons R)%F‘If{:

UG (A): D b YR YADIE H T HH el 7

PRUR:  COHH RV A g 9 ol

SR B & el ¥ i 1T U fadedl H T U1 TR &1 984 Dlfvig

() ()3 R EHTAE, 3R (R, (A) DI TG B G
@ (AR R THIEIE, g (R), (4) I g T ¢
) (AW g R R

@ (), g () W g

Question Number : 87 Question Id : 133327327 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



According to Charaka, Which of the following is not true in the context of Atiyoga of
Shirovirechana?

(1) Akshi Arti (2) Nasa Arti

(3)  Shankha Arti (4) Shravana Arti

Question Number : 87 Question Id : 133327327 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

R P TER, AR & sifcam & deu 7 Fafarad § 4 oH a1 98 el 7

(1) silér sifd (2) T 3
3) wEsfd (4)  yau fd

Question Number : 88 Question Id : 133327328 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Match List | with List Il : (According to Sushruta)

List | List I

A) Jalauka Avacharana )  Tvacha Sthitha Rakta Dushti

(

B) Prachchhana Karma () Angavyapaka Rakta Dushti
C) Siravedhana () Pindita Rakta Dushti
D) Shringa — Alabu Prayoga (IV) Avagadha Rakta Dushti

Choose the correct answer from the options given below :

(1 (A-(V), B, (©-(, (O)-0)
(2) (A=, B)-(V), ([©-(), (O)-()
(3) (A, (B)-(I). (C)-(IV), (D)-(lIh)
4) (A, B)-(1). (O-(1V), D)~

Question Number : 88 Question Id : 133327328 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Y11 P 1Y Y111 BT e DI : (GYd P 3IR)

g1 Y11
(A) SIAPT SHTIRDI () oI YT Eag Y
(B) THFH (I 3 YD IKIGH
() RRmEe (BREIESEREREE
(D) % — Sfelg FanT (V) SHaTe Ieigf®
1 f4u U fadedl H O ol 3R &1 994 Diforu -
(1) (A-(V), (B)-(l), (©)-(), (D)-(1)
(2)  (A)-(l), (B)-(1V), (Q)-(I), (D)-(1)
(3) (AN, (B)-(I), (C)-(IV), (D)-(llT)
(4)  (A)-(l, (B)-(1), (O-(V), (D)-(IN)

Question Number : 89 Question Id : 133327329 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to Sushruta Samhita, what is the maximum dose of Sneha for Uttara Basti in
male?

(1) 1 Karsha (2) Y2Pala
(3) 1 Prakuncha (4) 1 Prasruti

Question Number : 89 Question Id : 133327329 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Y AR P TR, 1 H IR a4 & Y We &1 SMfiwan 7B 01 82
(m 19y () v%ud
3) 1HPH (4) 19gfd

Question Number : 90 Question Id : 133327330 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled

as Reason (R).

Assertion (A):  According to Charaka, Shirovirechana is contraindicated in a person who

has just undergone Snehapana.

Reasons (R): It leads to Kasa, Shvasa and Pratishyaya.

In the light of the above statements, choose the correct answer from the options given

helow :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2)  Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3)  (A)is true but (R) is false

(4)  (A)is false but (R) is true

Question Number : 90 Question Id : 133327330 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

A 3 S 14U U § U SHHU (Assertion A) & T T fEd ¢ A THRT 9P SRUI
(Reasons R)%Wﬁ:

HUPYT (A): P P HTHR, WgUH (9T T Aidd § QR ARG Tl S Aie Ul
PRUR):  Tg B, Y4 UGH WicRam Pl e Sl g |

SRIdd DY & 3l H, A iGUTT0 fddbedl § J gt SR &1 987 diforu|

(1) (A) 3R R) 3 FAE, 3R R), (A) Pl el AR
() (A 3R R) I TS, g (R), (A) S Tl e
(3) (M) ¥UE, g (R) ST

(@) (A SNQ g, g (R) GBI

Question Number : 91 Question Id : 133327331 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



According to Sushruta, Suitability of specific Sneha as per the underlying condition.

A)  Ghritapana for Visharta
B)  Tailapana for Krimikoshtha

(

(

(C)  Vasapana for Kleshasaha
(D) Majjapana for Shushkaretas
(

E)  Swaaushadha Sadhita Sarpi for all conditions

Choose the correct answer from the options given below :

(1) (A) (), (C). (D). (E) Only
(2 (A)(B), (O Only
(3)  (A) (B). (D) Only
(4)  (A) (B). (E) Only

Question Number : 91 Question Id : 133327331 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

TYd S FagER, fARW g &1 Ffiiad sewn d Suhfid
A gaur fasrd o

(B) dUM BB H

(C) 9UYH FIragl

D) HSIUH Yobhay o

) 39y rfed uff geft o

i f¢U 71U f[ddedi § 9 9ol 3 &l 99 iU -

(1) ad (A), B), (O, (D), (B)
(2)  &ad (A), (B), (O
(3)  @dd (A), (B), (D)
(4)  Dad (A), B), (B)

Question Number : 92 Question Id : 133327332 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



According to 'Sushrut Samhita’, which of the following 'Snehapaka’ is indicated for
‘Karnapurana’?

(1) Mridu Paka (2) Madhyama Paka
(3)  Khara Paka (4) Chikkana Paka

Question Number : 92 Question Id : 133327332 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Gy Glea & SR, MEfied ¥ 3 $F 91 Reue SURUT & foy MR féar g2
(1) HgUid (2) TEHHUD
B) WUS 4) fdauue

Question Number : 93 Question Id : 133327333 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to Sushruta, which one of the following is not the Purva Rupa of Ashmari?

(1) Basti Pida (2) Arochaka
(3)  Mutrakricchra (4) Mutraghata

Question Number : 93 Question Id : 133327333 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Y & IR A H A DH 1 ) &1 Yde1 =gl 57
(1) SRad (2) SRIE®
G) AP (4) A

Question Number : 94 Question Id : 133327334 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following is not the cause of Gynecomastia?

(1) Teratoma of testis (2) Leprosy

(3)  Cirrhosis of liver (4) Pulmonary tuberculosis

Question Number : 94 Question Id : 133327334 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



9 & ¥ ©F 91 TS MR dT $1 RU el g7
(1) 99U ] RICH @) Y
3) UHd Bl RRIY 4) YR YRSy

Question Number : 95 Question Id : 133327335 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Match List | with List Il : (According to Sushruta)

List | List Il
(Type of Ashmari) (Features)

A) Vataj Ashmari

B) Pittaj Ashmari

C) Shleshmaj Ashmari
D) Shukraj Ashmari

[)  Madhukapushpa Varna
I} Testicular Swelling
I Madhu Varna

(
(
(
( IV) Kadambpushpavat

(
(
(
(

Choose the correct answer from the options given below :

(1) (A=), B)-(IV), (C)-(1), (D)-(I)
2)  (A)-(IV), (B)-(I). (O-(ID), (D)-(Im)
) (A-(IV), (B)-(I), (O)-(1). (D)-(
(4) (A=, (B)-(), (CQ)-(V), ([D)-()

Question Number : 95 Question Id : 133327335 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Y1 & 1Y GH-11 T fAeH ST : (@Y4d SHIR)

Al

gdI-11

(TR & UBR) (&)
(A) dIdol SHRL ) AYHYS qul
B) ool orzadl () 9uUIRY
(C) SO AR any HYTO
(D) hof AR (V) PHerEYNa]
-1 13U 71U fadb el 7 9 U1 IR &1 99 DI :
(1) (A=), (B)-(IV), (O)-(1), (D)-(I)
(2)  (A)-(IV), (B)-(I), (©)-(1), (D)-(I)
(3)  (A)-(IV), (B)-(liN), (C)-(1), (D)-(1)
(4)  (A)-(), (B)-(N), (O)-(1V), (D)-(1)

Question Number : 96 Question Id : 133327336 Question Type : MCQ Option Shuffling : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement |

Statement Il : If wounded person sleep in daytime

In the light of the above statements, choose the most appropriate answer from the

. According to Sushruta, wounded person may sleep in day time.

, itching in wound, heaviness in

body, redness and exudation, all will subside.

options given below

Question Number : 96 Question Id : 133327336 Question Type : MCQ Option Shuffling : No

Both Statement | and Statement Il are correct
Both Statement | and Statement Il are incorrect
Statement | is correct but Statement Il is incorrect

Statement | is incorrect but Statement Il is correct

Correct Marks : 4 Wrong Marks : 1



Il A fqu e g

B QYR ol g o o gl o W

BN 3l oofl o o o g il €, off o0 i 9 dhg, Sl YR, T IR W,
i T I gl |

JRIdd B4 & el 1, i T T fachedt 7 ¥ W S0dd SR &l T4 BIfoIL -

(1) eI | O a1 FHT g1
(2) A | Ud akied 1| Gl et §
3)  daIo] | 9gI g U4 9o || Tl §
(4) T | e § Ud ddod | Ugl

Question Number : 97 Question Id : 133327337 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

In carcinoma of breast, spread of tumour through blood stream is to

(A)  Thoracic vertebrae
(B)  Ribs

(C) Lumbar vertebrae
(D) Femur

()  Skull

Choose the correct order of frequency from the options given below :

1)

( (A), )
@) Q. (D) (A) { ). (E)
(3)  (B) (C) (A), (E). (D)
4)  (B) (Q). (B). (A). (D)

Question Number : 97 Question Id : 133327337 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



I HuR H, Iad Udle & GRI cgHR &1 Hald sldl o —
(A)  URRI® afcar &1

B =gl

(C) R afcdr &l

(D) T &I

() Thd bl

i H O 9l SRR &H &I gHU -

(1) (A), (C), (B), (E), (D)
(2) (C), (D), (A), (B), (E)
(3) (B), (), (A), (B), (D)
(4) (B), (C), (B), (A), (D)

Question Number : 98 Question Id : 133327338 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

“Grey Tuner's sign”, is the feature of -

(1) Severe Acute Pancreatitis (2) Severe Acute Cholecystitis

(3)  Acute Cholangitis (4) Acute Hepatitis

Question Number : 98 Question Id : 133327338 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Y TR B, qYU g -
(1) 3ifd dig Sy Oy @ ) 3t did o <y &1
(3)  did Dl Bl (4) did dhd WY B

Question Number : 99 Question Id : 133327339 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to Sushruta, "Nimnamadhya” is the feature of which of the following?

(1) Vidarika Prameha Pidaka (2) Jalini Prameha Pidaka
(3)  Sharavika Prameha Pidaka (4)  Putrini Prameha Pidaka



Question Number : 99 Question Id : 133327339 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Y & YR g U8 a0 9 | 9 fegarg?

(1) faqiiier wig Ussr &1 (2) SIfert e fUser &1
(3)  RIAHIYHE SHT S (4) gt uHg sHT 1

Question Number : 100 Question Id : 133327340 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to Sushruta, if blood is accumulated in stomach, it should be treated by -

(1) Virechana (2) Vamana

(3)  Nasya (4) Shirovirechana

Question Number : 100 Question Id : 133327340 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

QYd & STHR HHIRY F ¥dd UhHd g1 W, 34! ffded de-l digu-

(1) [ ERI (2) FHAGRI
(3) THERI 4) RRI R gRI

Question Number : 101 Question Id : 133327341 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

The commonest site for carcinoma of stomach is—

(1) Body (2) Pylorus
(3) Proximal part (4)  Antrum

Question Number : 101 Question Id : 133327341 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

2ATHTRI H U BT 3H (commonest) ™ g —

(1) dist 2) UEaRg
(3)  SIHHH 4) T<H



Question Number : 102 Question Id : 133327342 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

How many Ashastrakrita Netra rogas are explained by Sushruta?
(1) 09 (2) 10
@ 12 4 14

Question Number : 102 Question Id : 133327342 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

gYd b YR 3MLRAD =47 AT fobe g2
(1) 09 @ 10
g 12 @) 14

Question Number : 103 Question Id : 133327343 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

In which of the following disease ‘Pushpa Kasisa Anjana’ is specially mentioned by Acharya
Vagbhata?

(1) Lagana (2) Pakshmashata
(3)  SavranaSukra (4) Ajakajata

Question Number : 103 Question Id : 133327343 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

AT ae A Y T U o T H I BRI e[ $ 9%y F9 Y §an g7

(1) T (2) UEHRIIT
(3)  \dUep (4) SSIBId

Question Number : 104 Question Id : 133327344 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to Sushruta, ‘Shishirabhinandan’ is the lakshana of which of the following type
of Abhishyanda?

(1)  Pittaja (2) Vataja
(3) Kaphaja (4) Raktaja



Question Number : 104 Question Id : 133327344 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

gYd & 3ER, ‘RIRRIMHET Fu ¥ (69 UoR & i< o 950 62
(1) foe (2) dIao
(3) Py (4) Yool

Question Number : 105 Question Id : 133327345 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled

as Reason (R).
Assertion (A):  Middle ear infections are more common in the children.
Reasons (R):  Due to short, horizontal and wider Eustachian tube.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R} is the correct explanation of (A)
(2)  Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3)  (A)is correct but (R) is not correct

(4)  (A)is not correct but (R) is correct

Question Number : 105 Question Id : 133327345 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



d &l B e T § 0P 3B (Assertion A) & T U fed § ol THY 39S BRU
(Reasons R]aﬂﬂfff:

AU (A): eI BV (&) T Ush Y] Sl H w1l 3l ¢
IRUR): b IR egd - i, Wielt ofiR gl il ¢

IR H4A B 3f1cli H i 6T 70 fodoed! 1 U T8 ITYed SR &1 T4 Do

() () IR TGS, AR R), () B TG g
@ () IMREIVTRIE, dg ), (3 P e Tl ¢l
B (WIS fbg R TS

@ W bg R Wl

Question Number : 106 Question Id : 133327346 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Consider the following statements related to eye:

(A)  Sclera is the outer most coat of the eye ball.

(B) It forms posterior 5/6™ of the outer coat of the eye ball.
(C) Sclero-corneal junction is also called as limbus.
(

D)  Sclerais also called as vascular coat.

Choose the correct answer from the options given below :

(1) (A), (B) and (C) are correct
(2) (A), (C) and (D) are correct
(3) (B), (C) and (D) are correct
(

)
4) (A), (B), (C) and (D) are correct

Question Number : 106 Question Id : 133327346 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



I3 & "oy H FgfeiRad $uAl &l f[aaR Sifg|

(A)  THRRIEA S YU dig BT R g |

(B) TRRIA® UiS DI 5/6 URT DI ST G

Q@  TRRI-PIH3Hd SR bl feray i Hgl SIidl g1
(D) TRRIDI PR Dic 1 dedsl

+d U 70 f[dmcdl # 9 981 IR &1 I Hifelu -
M (A, (B) 3R (C) TBI3!

@ @A) © aﬂ? (D) GBI 3|

3)  (B), (Q) 3R (D) GEI g

4 (A, (B), (Q 3R (D) GGl I

Question Number : 107 Question Id : 133327347 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Consider the following statements related to Kriyakalpa.

A)  Sushruta has explained 5 types of netra kriyakalpas.

T

(A)
(B)  Sharagandhara has explained 7 types of Netra Kriyakalpas.
(C)  Kriyakalpas are explained only by Sushruta.

(D)  Kriyakalpas are therapeutic procedures explained by Sushruta and Vagbhata.
(

E)  Kriyakalpas are the major para surgical procedures.

Choose the correct answer from the options given below

(1) (A), (B) and (E) are correct
(2)  (A), (B) and (D) are correct
(3)  (A), (B), (D) and (E) are correct
(4) (B), (O, (D) and (E) are correct

Question Number : 107 Question Id : 133327347 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



foraTdheyl § Hefeq FufiRad HuHl &1 [daR o

(A) YA+ 5 UHR & fobarded a5 |
B) WRFWA7UDR & [huidbed 9T g |
€ foparded i sfdbel GYd - qUH fHarg |
(
(

D) foharded i & g, forae! GYd SR aFe - quiH [T g |
) fourdbe g IR isidhd BH ¢ |

T f3u U 9wl § 9 U981 IR &1 999 Hifolg ;
(1) H9d (A), (B) 3R (F) Yl |

(2) &ad (A), (B) 3R D) el gl

(3)  &ad (A), (B), (D) 3R () Gl g

(4)  &dd (B), (C), (D) 3R (F) Gl g

Question Number : 108 Question Id : 133327348 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to Acharya Sushruta, which doshas are vitiated in "Alasa’?

(1) Kapha and Vata (2) Kapha and Rakta
(3) Kapha and Pitta (4) Vata and Pitta

Question Number : 108 Question Id : 133327348 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

YYATTIR e T H DI U &Y GIod Bid 82
(1) B UJdld (2) HH UdIad
(3) ®WUdiUd (4) dIdud U

Question Number : 109 Question Id : 133327349 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

According to Sushruta, “Bala Taila" is indicated in which of the following disease?

(1) Nasanaha (2) Nasarbuda
(3)  Nasapaka (4) Nasasrava



Question Number : 109 Question Id : 133327349 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

YYd & IR “gall da” [ J ¥ b U I § [ERa g2

(1) ANHER (2) ArIdcE
(3) NG (4) ARG

Question Number : 110 Question Id : 133327350 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled

as Reason (R).

Assertion (A):  Difficulty in reading and close work, often persistantly increasing, is
experienced by most of patients suffering from primary open angle
glaucoma. These patients usually complain of frequent changes in
preshyopic glasses.

Reasons (R):  In patients of open angle glaucoma, the above problem is due to
increasing accomodative failure as a result of constant pressure on the
ciliary muscle and its nerve supply.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2)  Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3)  (A)is correct but (R) is not correct

(4)  (A)is not correct but (R) is correct

Question Number : 110 Question Id : 133327350 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



i & DY U MU S W DY (Assertion A) b T T feifled § ol U TG BRY
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Question Number : 111 Question Id : 133327351 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which of the following are not under “measures of central tendency”?

(1) Mean (2) Median
(3) Mode (4) Probability

Question Number : 111 Question Id : 133327351 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 112 Question Id : 133327352 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Which of the following is a non parametric test?

(1) Student 't test (2) F test
(3) Wilcoxon Signed rank test (4) ANOVA

Question Number : 112 Question Id : 133327352 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 113 Question Id : 133327353 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which of the following comes under observational study?

(1) Cross Sectional Study (2) Randomised Controlled trial
(3)  Cross Over Design Study (4) Black Box Design Study

Question Number : 113 Question Id : 133327353 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled

as Reason (R).

Assertion (A):  Parametric tests are used to test the significance of Quantitative data.

Reasons (R):  Because the Quantitative data are obtained by Ranking method.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2)  Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3)  (A)is true but (R) is false

(4)  (A)is false but (R) is true

Question Number : 114 Question Id : 133327354 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Given below are two statements :

Statement | : Fabrication means when the data obtained in the study is altered,

distorted or tampered with.

Statement Il : Falsification means, the results that entirely depect or even partly

include non-existent imaginary or cooked up data.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement Il are true
(2)  Both Statement | and Statement Il are false
(3)  Statement | is true but Statement Il is false

(4)  Statement | is false but Statement Il is true

Question Number : 115 Question Id : 133327355 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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The National Ayush Mission (NAM) "SUPRAJA" stands for what?

(1) Healthy life style through Ayush for school children.

(2)  Healthy life style through Ayush for maternal and Neonatal Intervention.
(3)  Healthy life style through Ayush for geriatric problems.

(4)  Healthy life style through Ayush for all age groups.

Question Number : 116 Question Id : 133327356 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 117 Question Id : 133327357 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

'Journal of Ayurveda’ is published from

(1) All India Institute of Ayurveda, New Delhi
2

—

) Institute of Teaching and Research in Ayurveda, Jamnagar, Gujarat
(3)  National Institute of Ayurveda, Jaipur, Rajasthan
(4) Banaras Hindu University, Varanasi, Uttar Pradesh.

Question Number : 117 Question Id : 133327357 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Correct Marks : 4 Wrong Marks : 1

National Institute of Homoepathy is located at

(1) Kolkata (2) Bengaluru
(3) New Delhi (4) Chennai

Question Number : 118 Question Id : 133327358 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 119 Question Id : 133327359 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

"AYURSWASTHYA Yojana" launched by Ministry of AYUSH contains which of the following

components?
(1) Ayurveda Ahara and health insurance.

(2)  AYUSH & Public Health and Centre of Excellence.
(3)

(4)

4

Ayurveda wellness and Medical value travel.

Central Sector Scheme for Promotion of Information, Education and
Communication (IEC) in AYUSH and Ayurveda Wellness.

Question Number : 119 Question Id : 133327359 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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National Commission of Indian System of Medicine in collaboration with which of the
following Institutions has launched "SMART' (Scope for Mainstreaming Ayurveda Research
in Teaching Professionals) program aimed to boost scientific research in priority

healthcare research areas through Ayurveda colleges and hospitals.

Indian Council of Medical Research

(1)

(2)  All India Institute of Medical Sciences, Rishikesh
(3)  Central Council of Research in Ayurvedic Sciences
(4)  National Medicinal Plants Board

Question Number : 120 Question Id : 133327360 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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